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BOARDING PARTIES FROBES (ﬁ
[T T T T Jof HEEERE SHIP DATA TABLE ANDROMEDAN KBRRAIT ;JS
TYPE = TKC
GUARDS ASSIGNED REYISED 5 JULY 20086 BREAKDOWN = 6 TDUHNHMENT EHUISEH p
FA COST = 5/8 m
THIS SHIP DOES HOT LIFE SUPPORT = ! CNTR ﬂ
HAVE SHUTTLECRAFT. SIZE CLASS = 3
TRL-FH g
re [&[E]E]  ra 3
PLAYER 1]2]3] pH-2-Fn [4]5]6] —
TOURN cHULL f132]  caRrco I'IT_'I
RS (0)]
ROUND ERIDGE PH-Z
TYPE Il PHASER TABLE TYPE 111 DEFENSE PHASER
DIE RANGE 4-9-16-31-||DIE RAHGE 4- 9- BATTERY
ROLL 0 1 2 3 & 15 30 SO0 ||lRoLL O 1 2 3 & 15 LURNHDDE SPEED pis pre |1]2] erer
1 2-5 ==
1 6 5 5 4 3 2 1 1 1T 4 4 4 3 1 1 2 6-10
2 6 54 4 2 1 10 2 4 4 4 2 1 0 3 11-15 IMEULIE LaB - WaRE
3 064441 1 00| 3 4 4 4 1 0 0|HET TN [ I o
4 5 4 4 3 1 0 0 0 4 4 4 3 0 0o o] : P &
5 5 4 3 3 0 0 0 O 5 4 3 2 0 0o o |[BD 22-28 BB ¢
& 5 3 3 3 0 0 0 0 6§ 3 3 1 0 o olfT] © 29+ ;
TRACTOR-REPULSOR BEAM TABLE (HEAWVY) HIT & RUN TABLE =z
DIE RAHGE 1 |SYSTEM DESTROYED; BP RETURNS ()]
ROLL 0-3 4-3 6-8 9-12 13-18 19-25 2 [5vSTEM & BP DESTROYED A
1 20 20 18 12 & 3 3-5| STSTEM UMDAMAGED; BP DESTROVED SENSOR SCANNER O
2 20 20 15 9 5 2 £ |STSTEM UNDAMAGED; BP RETURNS BEHBHE EHEHEBE rzl'l
3 2 18 12 8 3 1 H&R vs GUARDS
4 50 15 3 3 5 0 -3 BP DESTROVED E% DAMAGE DAM CON :(U>
5 15 12 & 2 1 0 45| BP RETURNS LTI TTT [alafz]=]=]0] =
6 15 g 3 1 1] 0 & | CONDUCT H&R =
THIS SHIP*S TRLs ARE TRHs "WHEN FIGHTING
THIS SHIP IS FOR PLAYTEST OMLY. Py
ANOTHER ANDROMEDAN SHIP. IT HAS NOT BEEN RELEASED FOR FH >
TOURMA&MENT USE. LF ~hRF 5
TRACTOR-REPULSOR BEAH TABLE (LIGHT) —
DIE_ RANGE TRANSPORTER BOMB L R e)
ROLL 0-3 4-5 6-8 9-12 13186 19-25]| | CanBE LAID BY TRANSPORTER OR DROPPED. Al P -
i TR 0 P P S 2. CAMN BE SET FOR &NY SIZE TARGET. Py}
5 1o . 4 | . ONE FAKE T-BOME IS ALLOWED, L J( ) Z
. 0 4. T-BOMES ARE NOT HIDDEN. 1] >
3 1a 9 3 2 5. T-BOMES CANNOT BE SWEPT. LS =LF +L + LR <
% 10 T 4 2 1 0 6. T-BOMBS CANNOT BE DISPLACED OR LAID RS=RF+R+RR m
g g ] 3 1 0 0 B DISPLACEMENT. =
B 7 4 z 0 0 0 7. ENTER COUNTER NUMBERS IN CIRCLES. —
WARP ENERGY MOVEMENT COST = 2/3 ENERGY POINT PER HEX [5] = HET COST (;8
SPEED 1 2 3 4 [5) & 7 B 9 10 11 12 13 14 15 16 18 19 20 21 22 23 24 25 26 27 28 29 30 c
Standard1 2 2 3 4 4 S5 & & 7 8 & 9 10 10 11 12 13 14 14 15 16 16 17 18 18 19 20 20 n
Fract. 25 1% 2 2% 3 4 4% sl 6 6% 7l 5 8% oY% 10 108501 12 1235130 14 14% 158 16 168517 15 18551915 20 %




